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Files and cuts

Files/runs: Signal cuts (to reduce noise):
*Run 16 - 5 GeV, energy scan, planes 4-8, 10, 12, 14

+Run 74 — 5 GeV, channel 51, no FLAME, planes 1-8 Veta's cuts HG:

1<1t<3, 0<signal <2000 3<t,<7.5, nn>60%

W in front of the 1% sensor!
Veta’s cuts LG:

CR-RC filter 0.2<1<3, 0<signal <2000 1.8<t,<5.5, nn>60%
t—t, t—t, _
S(t)=A—"exp—(—) 6le—t,) Strict cuts HG:
A — amplitude (MIP), T — shaping time, t, — time from signal T<1<3, 0<signal <2000 3 <t;<6.5, nn>380%

arrival until reaching the maximum
Strict cuts LG:
0.8<1<1.8, 0<signal <2000 3 <t,<5.5 nn>80%
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Set-up configuration for SRS run182

Signal selection: S, ., < 2000 ADC

apv_reco->Draw("apv_signal_maxfit>>h0",

"apv_id==0 &&
apv_fit t0>1.8 && apv_fit t0<56.5 &&

apv_fit_ tau=0.2 && apv_fit_tau<3.0 &&

apv_nn_output>0.6")
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Run 16, 5 GeV, high gain, Veta’s cuts
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Run 16, 5 GeV, high gain, strict cuts

Occupancy plot for layer 0 - plane 4 Occupancy plot for layer 1 - plane 5 Occupancy plot for layer 2 - plane 6 Occupancy plot for layer 3 - plane 7
h1 h2 h3 h4
' F Ertrios 169474 g L Entice 236778 g F Entics 341017 g F Ertios 370815
g g g g
60 O Meanx 2442 50 L Meanx 2411 €0 C Meanx 2498 60 [ Meanx 2478
: Mean y 346 : Maan y 41.92 : Mean y 42.05 : Mean y 4212
| Std Dev x 0.4966 |- Sid Dev x 0.4921 - Std Dev x 0.5 = Std Dev x 0.4996
50— St Devy 13.82 50— Sbevy 526 501~ Stdbevy 5117 501~ Sid Devy 5087
a0 a0 a0l a0
30 30 30 30
20 20 20 20
10 10 10l 10
[ M S R A [ N R E T T ) NN RN RN ol i b
0 1 15 . 35 4 0 1 15 X 35 4 0 1 15 X 35 4 0 1 15 . 35 4
sector sector sector sector
Occupancy plot for layer 4 - plane 8 Occupancy plot for layer 5 - plane 10 Occupancy plot for layer 6 - plane 12 Occupancy plot for layer 7 - plane 14
h5 h6é h7 h
® F Ertrics 338970 g L Entice 284588 g F Entics 275760 g F Ertios 174275
Q. (= f=5 a
60 j Mean x 2538 60 j Mean x a8 60 [ Mean x za7a 60 [ Meanx 2443
C Mean y 41.15 C Meany  41.78 C Meany 4067 L Meany 4023
| Std Dev x 0.4987 |- Std Dev x 0.4996 - Std Dev x 0.4996 = Std Dev x 0.4967
50— Sts Devy  4.899 50— StaDevy 4.956 501~ Sid Devy 5289 501~ St Devy 6418
a0l a0l a0~ a0~
30 30 30 30
20f 200~ 20[- 20~
10 10 10 10
[ M S R A [ N R E T T ) NN RN RN ol i b
0 05 1 15 . 35 4 0 05 1 15 X 35 4 o 05 1 15 X 35 4 D 05 1 15 . X 4

sector sector sector sector



Run 16, 5 GeV, low gain, Veta’s cuts
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Run 16, 5 GeV, low gain, strict cuts
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Run 16, 5 GeV, shower development
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Run 74, 5 GeV, high gain, Veta’s cuts
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Run 74, 5 GeV, high gain, strict cuts

Occupancy plot for layer 0 - plane 1
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Run 74, 5 GeV, low gain, Veta’s cuts
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Run 74, 5 GeV, low gain, strict cuts

Occupancy plot for layer 0 - plane 1
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Run 74, 5 GeV, shower development
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